| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

-20

0

<
o

5
=3

n o
N = » =
£ £
QS <
> o N
o X ~ O
— © x
3 g
o —
— © 5 mﬂ
™ g
2
) £ S)
2
e -
= E
— [ |
. 2
S
inl 2 o
1 £ IN]
o 1 1
E
Ite} s o
1N a Il
) 8 )
s o
=z
sxoel areondnp H —
o _ o
N o =
£ £
QS <
> o N
o X =]
— O X
% g
o
= 8 o =
- —
)
o )
el
! o
o —
‘ﬂ. I
) N N
i . [ (=]
1 EREEEEE [
o IR )
o Lo
Ite] 1 Lo
& o
(=] =} s o
- -
syoel] ae} Syoel) e} oney
n o
= L=
£ £
QS <
> o N
o X =]
— © X
3 g
o —
— O N o =
s |8 =1
[t} g
£
o 8 o
i g
2 S
o
— s ' |
| 3 :
[t} g N
— = . o
| 3 . I
o E . 1
N g :
0 2 [ S
AL ; &
J 5 =} >
[=} = — o
SREHERD ~H -
n o
N = =
£ £
Jo © O
g 2
> o N
Lo X 1=l
|1d x
3 g
Jo
= 8 o =
- —
-
o )
I (Yo}
! o
o —
b 1
)
i
o
"
LO
£
=)

syoen

N of reco track vs dz

-
syoen



	Contents
	Page 1


